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MAIN IDEA

« Solve problems using
the four-step plan.

Foul

ORGANIZE IT

summarize the four-step
problem-solving plan on
the Lesson 1-1 page of
your Foldable.

m Use the Four-Step Plan

© SPENDING A can of soda holds 12 fluid ounces. A 2-liter
bottle holds about 67 fluid ounces. If a pack of six cans
costs the same as a 2-liter bottle, which is the better
buy?

UNDERSTAND What are you trying to find? You know the
number of fluid ounces of soda in one can of
soda. You need to know the number of fluid
ounces of soda in a pack of six cans.

PLAN You can find the number of fluid ounces of soda

in a pack of six cans by the

number of fluid ounces in one can by l:l

SOLVE 12 x =

There are fluid ounces of soda in a pack

of six cans. The number of fluid ounces of soda

in a 2-liter bottle is about . Therefore,

the is the better buy

because you get more soda for the same price.

CHECK The answer makes sense based on the facts
given in the problem.

(LS N UEEN FIELD TRIP The sixth-grade class

at Meadow Middle School is taking a field trip to the local zoo.
There will be 142 students plus 12 adults going on the trip. If
each school bus can hold 48 people, how many buses will be
needed for the field trip?
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